Norge DGJ181W 03 - EXTERIOR (ORIG. REV. A)

NORGE

DGJ18~1

EXTERIOR

ssued 4/88

Norge Residential Norge DGJ181W Dryer Parts Parts Diagram 03 - EXTERIOR (ORIG. REV. A)
Click on the part number to view part

Item Original Part Number

1 53-0314
53-0160
63-5712
33-0930

S~ 0N

" 25-3092

25-3034
33-2653
53-0727
53-0155
" 53-0161
" 53-0592

© 53-0162

" 53-0593
" 53-0156
10 25-7817

31001714

90767

12001190

Replaced By

Status
Not Available

Not Available
Not Available
Not Available

Not Available

Not Available

Not Available

Part Description

CABINET TOP

Cabinet And Base Assembly
Hinge, Cabinet Top

Pad, Top Hinge

Screw, 8A X 3/8 HeX Washer
Head Tapping

Clip, Wiring

Bumper, Cabinet

Panel Kit

PLUG, GAS ACCESS (WHT)
PLUG, GAS ACCESS (ALM)
CHROME PLUG

BUTTON, GAS ACCESS
(ALM)

CHROME BUTTON
Button, Gas Access

CLIP, U-TYPE


http://www.pwslaundry.com/c-511772-residential-norge-dgj181w-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10430511-norge-31001714-dryer-cabinet-and-base-assembly.html
http://www.pwslaundry.com/i-10430326-norge-63-5712-dryer-hinge-cabinet-top.html
http://www.pwslaundry.com/i-10429523-norge-33-0930-washer-dryer-pad-top-hinge.html
http://www.pwslaundry.com/i-10433786-norge-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10430330-norge-25-3034-dryer-clip-wiring.html
http://www.pwslaundry.com/i-10429543-norge-33-2653-washer-dryer-bumper-cabinet.html
http://www.pwslaundry.com/i-10434037-norge-12001190-dryer-panel-kit.html
http://www.pwslaundry.com/i-10430489-norge-53-0156-dryer-button-gas-access.html

11 25-7220 Clip, Cabinet Top

13 25-0224 3400029 Nut, Adapter Plate

14 53-0917 12001324 Duct Kit, Collector

15 53-0203 12001324 Duct Kit, Collector

17 53-0918 Filter, Lint

19 53-0154 Panel, Outer Door

21 53-0119 Clip, Hinge

23 53-0252 53-1491 Door Pad

" 25-7770 3196169 Screw, Element

26 25-7810 415013-35 Screw

27 25-7809 Screw, No.6-20 1/2 Flthd Torx

28 LA-1003 Door Catch Kit

29 73-0033 LA-1003 Door Catch Kit

31 25-7828 489483 Screw 10-32 X 1/2

Screw, 8A X 3/8 HeX Washer

32 25-7857 90767 Head Tapping

33 53-0133 Shield, Heat

NOT REQUIRED PART OR

34 W10124350 Not Available SEE NOTE DRYING RACK

35 53-0147 53-0148 Switch, Door



http://www.pwslaundry.com/i-10433157-norge-489478-washer-dryer-screw-8-x-1-2.html
http://www.pwslaundry.com/i-10429704-norge-25-7220-washer-dryer-clip-cabinet-top.html
http://www.pwslaundry.com/i-10429531-norge-53-0643-washer-dryer-pin-locator.html
http://www.pwslaundry.com/i-10433996-norge-3400029-washer-dryer-nut-adapter-plate.html
http://www.pwslaundry.com/i-10429843-norge-53-0200-washer-dryer-sleeve-locator-pin.html
http://www.pwslaundry.com/i-10430569-norge-12001324-dryer-duct-kit-collector.html
http://www.pwslaundry.com/i-10429258-norge-415013-35-dryer-screw.html
http://www.pwslaundry.com/i-10430569-norge-12001324-dryer-duct-kit-collector.html
http://www.pwslaundry.com/i-10430338-norge-53-0123-dryer-clip.html
http://www.pwslaundry.com/i-10430408-norge-53-0918-dryer-filter-lint.html
http://www.pwslaundry.com/i-10430573-norge-31001637-dryer-seal-assembly-cylinder-front.html
http://www.pwslaundry.com/i-10430374-norge-53-0154-dryer-panel-outer-door.html
http://www.pwslaundry.com/i-10431218-norge-la-1024-dryer-inner-door-kit.html
http://www.pwslaundry.com/i-10430345-norge-53-0119-dryer-clip-hinge.html
http://www.pwslaundry.com/i-10430447-norge-53-1490-dryer-door-pad.html
http://www.pwslaundry.com/i-10430451-norge-53-1491-dryer-door-pad.html
http://www.pwslaundry.com/i-10430577-norge-31001529-dryer-seal-door.html
http://www.pwslaundry.com/i-10433089-norge-3196169-washer-dryer-screw-element.html
http://www.pwslaundry.com/i-10430455-norge-25-7889-dryer-plug-button.html
http://www.pwslaundry.com/i-10429258-norge-415013-35-dryer-screw.html
http://www.pwslaundry.com/i-10430459-norge-53-0927-dryer-handle-door.html
http://www.pwslaundry.com/i-10430353-norge-25-7809-dryer-screw-no-6-20-1-2-flthd-torx.html
http://www.pwslaundry.com/i-10430349-norge-53-1492-dryer-hinge-dryer-door.html
http://www.pwslaundry.com/i-10430357-norge-la-1003-dryer-door-catch-kit.html
http://www.pwslaundry.com/i-10430357-norge-la-1003-dryer-door-catch-kit.html
http://www.pwslaundry.com/i-10430357-norge-la-1003-dryer-door-catch-kit.html
http://www.pwslaundry.com/i-10433993-norge-489483-washer-dryer-screw-10-32-x-1-2.html
http://www.pwslaundry.com/i-10433786-norge-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10430404-norge-53-0284-dryer-cover-terminal.html
http://www.pwslaundry.com/i-10430361-norge-53-0133-dryer-shield-heat.html
http://www.pwslaundry.com/i-10429475-norge-25-3457-washer-dryer-screw-sems.html
http://www.pwslaundry.com/i-10430366-norge-la-1005-dryer-switch-kit.html
http://www.pwslaundry.com/i-10430370-norge-53-0148-dryer-switch-door.html
http://www.pwslaundry.com/i-10428091-norge-31001319-dryer-clip-switch.html

	Norge DGJ181W 03 - EXTERIOR (ORIG. REV. A)

